












%Particles in space Example (lecture Mar 13, 2019

for x = 1:10
    disp(x)
end

%Given r1, r1dot, r2, r2dot
c= rand(1);
r1    = rand(3,1); r2    = rand(3,1); 
r1dot = rand(3,1); r2dot = rand(3,1);
 
%Find a vector in the direction r12
%with magnitude   c * d/dt (|r12|)
 
r    = r2    - r1;      % rel position
rdot = r2dot - r1dot;   % rel velocity
 
lambda = r/norm(r);     % uinit vector
 
Fscalar = c * dot(rdot,r)/norm(r); %see lecture notes
 
Fvector = Fscalar * lambda  % the answer, a vector
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